Trig Functions and Identities 1
Solve the equation
(i) 3sinx+5Scosx=0 for 0° <x<360°,

(ii) 3tan’y-secy—1=0 for 0°<y<360°,

2
Show that 1=€08°0_ 1 _ in2g,
sec?f -1

(a) Find all the angles between 0° and 360° which satisfy
(i) 2sinx-3cosx=0,

(i) 2sin?y-3cosy=0.

Solve
(i) 4sinx=cosx for 0° <x<360°,

(ii) 3 +siny=3cos?y for 0°<y<360°,
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(a) Giventhat sinx=p and cosx=2p, where x is acute, find the exact value of p and the exact value

of cosecx.
(b) Prove that (cotx + tanx) (cotx —tanx) = + - % .
sin“x  cos“x
1 1 _ 2
Show that = 2cosec-6.

1 —cosé * 1 + cos@

Solve

(i) 2cot?x—5cosecx—1=0 for 0°<x<180°,

(ii) Scos2y—4sin2y=0 for 0° <y <180°,
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